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3,NBT.A.2 SURTRACTION WITH NO REGROUPING ASSESSMENT
—

L L2 [o I R L0

A .

(, Subtract.
: .65 2.846 3.323. 4.453
\c 34 -y433 - 32| - 34

O I

5.879 6.987 7. 653 8.786
- 523 -234 - 433 -652

9. 763 10. 348 Il. 897 12. 873
- /52 -247 -564 - 521
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Solving Differehces

Usihg Bdse 10:
(Use Base 10 Blocks fo help solve the following Number Senfences)

Example: 33¢ - 221 = 113

v
Arv

/S [naueek, penclope afe 45 qrapes,
Q- 30 sfrauberries, and 78 blucherrics.
‘%@ The same week, her best friend,
"/t"'@' Melody, afe 25 apples, 43 oranges,
. and 77 raspberries,

Y

Begin wifh larger amount (33¢)->

“Takke auay” smaller amount from
The larger amount (221) >
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1. How much fruif did Penclope eaf all week?
2. How much fruif did Melody eaf all week?

3, Who afe The most fruif?___
4, How much more fruif did she eaf

What is The difference?
(How many are 1ef17) >

The Number Sentence is 33+ - 221 = 113

Y4

', C 1. 456-2321-= Than her friend?

'l’l 2, 342-322=°____ 5. How much fruif did They boTh eaf
(X Sl 3, 765 — 454 = all Together?

()¢ £, 845 - 13 -

Y Al 5. 693 — 482 = # Work ouf your problems on g

separafe sheef of paper & sfaple
| it To The back of This sheef ©

Humble Pie Education
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X7 Work ouf your problems on a Separafe sheef of
aper & Staple if To The back of This sheef ©
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3.NBTA.2 SUBTRACTION WITH REGROUPING ASSESSMENT
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“-l Name: Date:
-u

lllllllllllh n 02 Ap___65 b4
:‘ Gubtract.
| .76 2.897 3.657 H4H.739

| Colve
l2 -543 - 542 - 43y

I 5.843 6.387 7. 763 8.730
- 754 -298 - 368 - 654

2y

9. 905 10. 600 Il. 768 12. 801
/| -876 434  -459  -785
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SOIvmg Differehces
Using Bdse 10:
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Gerald and Tyson began working ouf af

Y

s .- \ &

A ' —
138:4
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184 — 683 - 4, How much more could he IifT Than his
843 - 183
974 - 576

: — = N’ frltnd7
' . 5. How many pounds could They bofh IifT all
9 I 605 - 546 = TOQCThCl‘?
X Work ouf goul‘ problems on a separafe sheet of %

o) Work ouf your problems on a separate sheet of paper &
3 pdpcr & STGPIC it To The back of This sheet © 7 STUPIC it To the back of This sheet © (
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’ : (Use Base 10 Blocks 1o help solve the following Number Sentences) | J — Thc lOC(]l ggm. Bg Thc Cnd of (A)CC|< onc,
- g Exampl: 33 — 244 = 113 ¢ : ;ﬁ”“"@ Gerald could bench 200 pounds on The
'; Z Begin with larger amount (334)> [ . ﬂ“qge bchh P[‘C&S Gnd COUH llfT 75P0und5 Pcr
= at i» . arm on The arm reps, Tyson could bench
FX Y e ) e[ | §on The bench press buf could only IT 25 pounds
.e § (*remember here you will have To regroup) : » PC[‘ arm on Thc arm rCPS'
l‘ <k 4 1, How many pounds could Gerald IifT all
’l 3 it e dftet = TogeTher?
Y Salg] | ooyt > ERBEDEDEL POUBLE '\ 2. How many pound could Tyson IifT in all?
’ ' N | The Number Senfemee is 33+ - 244 - 90 HGCK YOUR
Vo § L 567448 - WORK 3, Who could [ifT The most?
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